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SN BADSD
Hu: SDENY ¥ =XEE
el 2Ass NEsd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odgd 24u=s X2 320, 160,000 320, 160
Ostul =A2 JHESAHL A&
135,000,000 135,000
0 A -2 -7 WSHISEIH HIHES 209,377 202,980 6,397
O FEUFEIA 209,377 ,000& 209,377
St s44| XI# 3,835,834 4,249,567 A413,733
308 XtXIEMSO0IH 3,835,834 4,249,567 A413,733
08 W=J| 202X 3,835,834 4,249,567 A413,733
OBYRIY 2434 XL
103,066,0002! 103,066
ONBSXIE SA2A T
239,849,000 239,849
OZSstn SH2A Xg
1,285,968,000& 1,285,968
Osst a4 A2 893,796,000 893,796
ODEsD 2AA X8
1,313, 155,000 1,313,155
STHUSHUIAEE 641,765 783,255 A141,490
Al 109,500
- 532,265
NSARDE Ol s ESSHEE 623,500 753,000 129,500
Al 109,500
- 514,000
201 er2 3| 155,000 151,000 4,000
Al 18,360
- 136,640
01 At2teltl 155,000 138,000 17,000
OUSHAX T A =8 AR2F 28
1,000,000& 1,000
Oltsusid N=8 M
2,000,000& *22] 4,000
Os70ts PARAEY WS HA &
Xt 150,000,000 150,000
Al 18,360
- 131,640
307 gl2to| & 60,000 80,000 /20,000
Al 30,000
- 30,000
02 QB AANEE R 60,000 80,000 220,000
Os70tEe=tn WSSSH K2 A
5,000,000 1274 60,000
Al 30,000
- 30,000
308 AHXIEMSOIH 408,500 520,000 A111,500
Al 61,140




A=t
WMEXE & SXNES
TUFSHUXA2E CHe M)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
- 347,360
08 W=J |20t 2 408,500 520,000 A111,500
O0=gH Uty 28X
126,000,000 126,000
OFa2E XFAR F0HS0tel X
18,000,000 18,000
OHO=AE 28N 30,000,000& 30,000
OET0IE PHPAEY TSI
167,000,000 167,000
Al 58,640
- 108,360
O=2stlsMs8us X 47,500,000 47,500
Al 2,500
T 45,000
O=3t0il=s0tel XN 20,000,000& 20,000
WFESH =22 18,265 30,255 211,990
201 fer= 3| 13,820 25,640 A11,820
01 At 2|l 1,820 3,640 1,820
OXNSDESABO|S| B4
70,0003 * 13 *22] 1,820
03 A= &I 12,000 22,000 10,000
OltsusgsIt 923 |ds
12,000,000& *13] 12,000
203 gR=8| 1,445 1,615 A170
03 A=A PR FA| 1,445 1,615 AT70
OuFSHA AIH =& 1,700,000 *85% 1,445
301 EtE NS 3,000 3,000
11 AALAHIXIES 3,000 3,000
OltSu=EsIt 23 /s
3,000,000& 3,000
(Ot )ots1E S LSESIAIE HE 6,402,000 3,100,000 3,302,000
= 60,000
Al 132,000
imi 5,776,000
- 434,000
(O1d)ot=1E8 St SEsAIE THHAIE 28 3,238,000 1,600,000 1,638,000
imi 2,804,000
- 434,000
401 Al HIZ R 0HHI 3,238,000 1,600,000 1,638,000
imi 2,804,000
- 434,000
01 Al&H| 3,238,000 1,600,000 1,638,000
OOta)dls15 stn=EatAle AL A
g 3,238,000,000& 3,238,000

_4_




SN BADSD
B SDUENY U =X 8B
ol (O1R)BHS1E SNSESAL HY (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
il 2,804,000
T 434,000
(Ota)ots15 Sn=3stAld JIEHE HE 750,000 1,500,000 A750,000
imi 750,000
401 AlEHIZL SO 750,000 1,500,000 AT750,000
il 750,000
01 A28l 750,000 1,500,000 AT750,000
OOI)BH1E Stn=astAlL IISHE 2
g 750,000,000 750,000
imi 750,000
(OHa)ots1E Sn=gstAld UESHssSHE HE 1,274,000 0 1,274,000
[ 60,000
Al 20,000
imi 1,194,000
401 AIZHIZL R0 1,274,000 0 1,274,000
= 60,000
Al 20,000
i 1,194,000
01 Al&H| 1,274,000 0 1,274,000
OOIR)sHs1Z sn=ssiAL CENsSE
HE A 1,274,000,000& 1,274,000
= 60,000
Al 20,000
imi 1,194,000
(O12)5HS15 StISSSAIE ST HB(HEA 1,140,000 0 1,140,000
2)
Al 112,000
il 1,028,000
401 AIEHIX R0 1,140,000 0 1,140,000
Al 112,000
imi 1,028,000
01 AlZ28| 1,140,000 0 1,140,000
O0H)ots15 Su=gsNE A2
L (HEAIY) 1, 140,000,000 1,140,000
Al 112,000
i 1,028,000
dZHEXNHE =2 80,000 0 80,000
Al 80,000
HZHEXNHEEH 2E 80,000 0 80,000
Al 80,000
308 AHAIEMSOIE 80,000 0 80,000
Al 80,000
18 SIS0t & A AS A 80,000 0 80,000
OMZMEXNAHE =2 80,000,000 80,000
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SN YRS
MM HAW S8 Y8
ool X HAE |4

o (el ®9)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 6,000 6,000
02 QIZHAAAIEER 6,000 6,000
OHAH SHPSEEAY N
6,000,000& 6,000
HAEMNGAY 2Z 241,487 232,607 8,880
Al 87,240
- 154,247
307 2I2+01™ 241,487 232,607 8,880
Al 87,240
- 154,247
05 012t ErE 241,487 232,607 8,880
OFAE AS=TME 2% X2
174,480,000& 174,480
Al 87,240
=] 87,240
OEAHE AETME 22 N2 (7H)
67,007,000& 67,007
HAEoMY A= X7 190,800 187,004 3,7%
= 95,400
Al 47,700
- 47,700
307 212+01™ 190,800 187,004 3,7%
= 95,400
Al 47,700
- 47,700
05 QIZIRIErZ 190,800 187,004 3,7%
OHAY 01X 2E g
102,000,000& 102,000
= 51,000
Al 25,500
- 25,500
OFaY otMg x X2(22L)
83,800,000& 88,800
= 44,400
Al 22,200
- 22,200
HAE S T2 29 112,508 72,068 40,440
= 48,813
Al 31,848
- 31,847
307 212+01™ 112,508 72,068 40,440
= 48,813
Al 31,848
- 31,847
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2A:

BN

Hu: AW 84 U P5HE N
Chel: A& HAE |4 2 B35 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 6,285
Al 8,198
- 8,197
307 @I2to| & 22,680 20,160 2,520
= 6.285
Al 8,198
- 8,197
05 212t =S 22,680 20,160 2,520
OStm 9 HAE A X
22,680,000& 22,680
= 6,285
Al 8,198
- 8,197
St 9 FAad XJHE SAEL XM2048] X2 28,881 17,375 11,506
Al 4,093
- 24,788
307 212+01& 28,881 17,375 11,506
Al 4,093
- 24,788
05 2IZtAE = 28,881 17,375 11,506
Ot & FA4E XJAME SALL XM
Bl XI& 8,186,000 8,186
Al 4,093
= 4,008
OBt % HAE NAME SAK XL
Bl X2 (1) 17,695,000& 17,695
Ot & FA4E XJAHE SALL Ag2EX
I X124 (2281) 3,000,000& 3,000
Had SEXA 45,039 29,510 16,529
= 31,527
Al 6,756
- 6,756
301 LEIE NS 45,039 29,510 16,529
= 31,527
Al 6.756
- 6,756
01 Al 2E AL S(SREXME) 45,039 29,510 16,529
OSgXate 443 X2
45,039,000 45,039
= 31,527
Al 6.756
- 6,756
Had HANJA(GHEFEAE MRIEF N AY) 120,138 234,868 A114,730
= 44,694




SN YRS
MM HAW S8 Y8
ool X HAE |4

T2 (Er9:&e)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 37,722
T 37,722
301 EtE NS 120,138 234,868 A114,730
= 44,694
Al 37,722
- 37,722
01 AR 2H AL S (R NEETHE 89,388 80,028 9,360
O0&EAE MRIEF X M (HAES)
89,388,000 89,388
= 44,694
Al 22,347
- 22,347
03 AR 2EHFS(XILH) 30,750 154,840 124,090
O0gEAHE MIS3 X M (2BXIY)
30,750,000& 30,750
Al 15,375
- 16,375
U=t NI=TS! 19,574,570 18,280,745 1,293,825
= 8,851,029
[ 703,880
Al 7,738,043
- 2,281,618
OtS=XAIEX& 6,004,569 5,786,666 307,903
= 105,239
= 515,894
Al 4,978,529
- 494,907
Ors=XIAIE XI& 4,509,713 4,332,446 177,267
Al 4,463,551
- 46,162
307 212t01& 4,509,713 4,332,254 177,459
Al 4,463,551
- 46,162
10 Al SXAEEHE2EHI 22X 4,290,355 4,116,474 173,881
OO0tS=RAIE 28 X&
4,184,275,000& 4,184,275
Al 4,184,275
OOtS=XAIE SALL X8
21,200,000 21,200
Al 21,200
OO0IS=RIAIE SAL SEHZd8H X
200,000& »38H 7,600
Al 7,600




2A:

=R

33: Ots=A &4
s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOIS=XIAE EAN 228l ¥ 22k &
g X& 77,280,000& 77,280
Al 77,280
11 AMEISXAEEES 219,358 215,780 3,578
OOIS=TAIE T2 2y X
219,358,000& 219,358
Al 173,196
- 46,162
RES0ts O8E 24 (=3Hl) 263,100 236,155 26,945
= 105,239
Al 157,861
307 212+01& 263,100 236,155 26,945
= 105,239
Al 157,861
10 AlRISTIAIEEE 22X 263,100 236,155 26,945
OR%s0E 182 25
263,100,000 263,100
= 105,239
Al 157,861
2ES0ts 188 24 132,573 100,455 32,118
Al 132,573
307 elztol & 132,573 100,455 32,118
Al 132,573
10 Al2ISTIAEEE2HIEX 105,997 82,623 23,374
OZSHEIIY(IEE) BAR L22HY|
94,427,000 94,427
Al 94,427
OSSHEIIE(0EE) EMA SXE=
1,850,000 1,850
Al 1,850
O3sd8Itd(083) SAL SE3 A
200,0002 34 600
Al 600
O3SdEINE(OES) SAHL 2 & &
clAt =& 9,120,000& 9.120
Al 9.120
1 AMISXAIEES 26,576 17,832 8,744
OssdaEiny 228 28
26,576,000 26,576
Al 26,576
AEotsHE 238 XA 58,248 58,248 0
[ 29,124
Al 14,562
- 14,562
307 elztol & 58,248 58,248 0




2A:
X XH -
o e

=aak

=R
EEV =S
OIS = XIAIE X2

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 29,124
Al 14,562
- 14,562
10 Al SXAEEE 22X 58,248 58,248 0
OXI=OISHIE 2| X2
51,648,000 51,648
= 25,824
Al 12,912
- 12,912
OXIS0tsHE F=ot2ddl A&
6,600,000 6.600
= 3,300
Al 1,650
- 1,650
KSotsdE 2l2id] X 318,450 263,736 54,714
= 169,225
Al 79,613
- 79,612
307 @I2to| & 318,450 263,736 54,714
[ 189,225
Al 79,613
- 79,612
10 AlISXAAZEHE 22X 318,450 263,736 54,714
OXlSotsHIE 1Al K&
318,450,000 318,450
[ 159,225
Al 79,613
- 79,612
XSotsHlE 221 XI&(AlHI) 174,743 157,952 16,791
Al 89,037
- 85,706
307 212+01™ 174,743 157,952 16,791
Al 89,037
- 85,706
10 AlRISTIAIEEE 22X 162,981 131,440 21,541
ONAOISHE EAX 2XES X
2,300,000& 2,300
Al 2,300
OXISOtSHIE SALL 2288 X
150,481,000 180,481
Al 75,240
- 75,241
OXGOtSHE SAL S22 8| X2
200,000 200
Al 200




2A:
PSR
ool

=R
EEV =S
OIS = XIAIE X2

SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 MEISXAEE 21,762 26,512 N4, 750
OXNgoIsHy srsatd K&
13,080,000 13,080
Al 6,540
- 6,540
OXE0tsHe 22088 A&
7,850,000 7,850
Al 3,925
- 3,925
OXSOtSHE i &S XA
832,000 832
Al 832
NotsHE 2] X2 (XEA) 126,165 126,165 0
307 glztol & 126,165 126,165
05 2IMRIE =3 109,800 109,800
O+g XNEotsHE X3 109,800
—7& EUXH0ISHE
4,800,000 ~12& 57,600
— T8 HeHXIA0ts M
4,350,000« 12& 52,200
10 Al2ISXIAIEEE 22X 16,365 16,365 0
OXSotsHE SAE20 N 16,365
—J2HIINS0tsHEH
16,365,000 16,365
NS 0ISHE Jls2Z At X2 5,233 9,304 A4,071
307 @I2t01 & 2,867 3,805 A938
05 2IR”IRIE = 2,867 3,805 2938
OFE X0tSHE JIs22At2H] X2
2,867,000& 2,867
402 QI>F X201 & 2,366 5,499 A3,133
01 QI 2 AL EZ (XM TH ) 2,366 5,499 A3,133
OAFEIINS0ISHE Jls22AtHl X
! 2,366,000& 2,366
Ots=S XA IHAXIR 66,642 79,284 N12,642
[ 33,321
Al 16,661
- 16,660
101 @124H| 66,642 79,284 N12,642
= 33,321
Al 16,661
T 16,660
M ORINZZE2NSE S 66,642 79,284 N12,642
OO0ts= XL AF 21 244| 66,642,000& 66,642
= 33,321
Al 16,661




2A:

X XH -
o=

SHW=F
o= 58

s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 16,660
FHUNHE OlsSEMHIA XA (=4]) 367,781 364,400 3,381
[ 294,224
Al 22,067
- 51,490
101 @1A4H| 162,602 188,319 4,283
[ 130,081
Al 9,75
- 22,765
03 SRH(RINAHA) 222+ 31,483 29,998 1,485
OOtS S AtHIZ2IAHSRA) Q124]
31,483,000& 31,483
[ 25,186
Al 1,888
2 4,409
04 JIZtNZ22 NS+ 131,119 128,321 2,798
OOtSSEAHIZtZIAHDI2EHI) 2I24H]
131,119,000 131,119
[ 104,89%
Al 7,868
- 18,35
201 fer= 3| 140,261 140,260 1
[ 112,209
Al 8,417
- 19,635
01 At2teltl 32,570 32,570 0
OLEAEE Yit=2H] 22,400,000& 22,400
= 17,920
Al 1,344
T 3,136
OEHAERE 28 usH| 2,570,000& 2,570
= 2,05
Al 154
T 360
O=EH| 8,000 x5 »7ed 123 3,360
= 2,688
Al 202
- 470
Oogx=z(F=I| 8) 363,330 * 122 4,240
= 3,392
Al 254
- 5%4
2 s5=34l 7,791 7,790 1




FA g8us
33: Ots=A &4
s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEEHAERE 2ER= S 6,983,000& 6,983
= 5,586
Al 419
- 978
OEEAERE IgsXH 808,000 808
= 647
Al 50
- 11
03 Ar=EHI 99,900 99,900 0
OEEAEE A2 S 40,000,000 40,000
= 32,000
Al 2,400
- 5,600
OCEHAERE 2208 M=
59,900,000& 59,900
= 47,920
Al 3,5%4
- 8,386
202 04l 6.210 7,140 A930
= 4,968
Al 372
- 870
01 =LHO LI 6.210 7,140 2930
OESAERE Atell2tel £2&0it]
10,0002 68 +73]~12& 4,200
= 3,360
Al 252
- 588
OEEAEE WYl & 2,010,000& 2,010
= 1,608
Al 120
- 282
301 EtE NS 54,000 54,000 0
s 43,200
Al 3,240
- 7,560
01 Al 2E A S(SRNEXMHE) 45,000 45,000 0
OEEAERE T2 XA
45,000,000 45,000
s 36,000
Al 2,700
- 6,300
11 dALREIXIE S 9,000 9,000 0




2A:

=R

33: Ots=A &4
s OFSSXIAIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCRIAEIE BAMHINAS
9,000,000& 9,000
= 7,200
Al 540
- 1,260
04 HSRESS 4,708 4,681 27
= 3,766
Al 282
- 660
4 BRA(RIHA)22N HEERES S 4,708 4,681 27
OOISSEABIANZRE) 28223
S 4,708,000 4,708
= 3,766
Al 282
- 660
CAEIE MH2F(XHAI) 69,317 55,981 13,336
101 @124H| 31,749 19,122 12,627
M OIRIMZZE2NSE S 31,749 19,122 12,627
OOlSSEAtAIZ2IAHOIREM) el24t] 22,260
—ZHIAHI 140,0002 ~4&« 122 6,720
—ItEE 105,000& x4« 123 5,040
—SEFOHI 2,125,000+60%~4 & 23] 10,200
—SotE 4] 300,000 300
OOLS=XIMAHIIZERI) Q124 9,489
=L
(140,000« 1 =122 )+(87,500& 2L 128 )
3,780
— S E S
(2,111,000 x60%+1H+23 )+(1, 323,000 *60%+2
H+23]) 5,709
201 er23 | 12,000 11,300 700
01 At2teltl 2,700 3,000 A300
CEHAERE dit=EH] 1,200,000& 1,200
OEEAEE gX= 1,500,000& 1,500
02 S3=gHl 9,300 8,300 1,000
OSYAEIE MR 300, 0002 300
OCRAEIE NSRS S
9,000,000& 9,000
202 04l 510 501
01 =LHA LI 510 501
OOIS=SRI WAL Atell2te]l SZ04]
10,0002 * 12 %4252« 12 510
301 EetE NS 15,058 15,058
02 ANRI2HHSHS(HAAS, NLHE) 15,058 15,058
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2A:
PSR
ool

SHW=F
o= 58
OlS=XAILXE

SA - B BRA(SH) - HRA - of v G o HIDE2
OCEEHAEE Z208XI&H|
15,058,000& 15,058
307 gl2to| & 10,000 10,000
012z & 2=H| 10,000 10,000
OSEHAEIE 224l S X2
10,000,000& 10,000
ASE0tsHEH gsts SA=<01 X2 2,604 2,540 64
Al 2,604
307 gl2to| & 2,604 2,540 64
Al 2,604
10 Al2ISXIAIEEE 22X 2,604 2,540 64
OXNg0IsHE &5 SA4E201 A&
2,604,000& 2,604
Al 2,604
MNASE Ots=A X 2,687,482 2,445,577 241,906
= 501,630
Al 1,175,343
- 1,010,509
Z240ts S4X3 1,816,550 1,680,000 136,550
Al 908,275
- 908,275
301 EtE NS 1,816,550 1,680,000 136,550
Al 908,275
- 908,275
02 ALRI2EH G (FHAAHS, NSWE) 1,816,550 1,680,000 136,550
Z240ls SaXE 1,816,550,000& 1,816,550
Al 908,275
- 908,275
OlsSZ X2 AHIZ 351,360 225,025 126,335
= 245,952
Al 52,704
- 52,704
301 EtE NS 361,360 225,025 126,335
= 245,952
Al 52,704
- 52,704
01 Al EE A ZS(2DEXMR) 351,360 225,025 126,335
ORES0ts 2ENE A%
351,360,000 361,360
= 245,952
Al 52,704
- 52,704
OtsZd 32 1,680 2,800 A1,120
201 eer23y| 1,680 2,800 A1,120




SN BHDSD
33 Ots=A &
el NASE ots=A A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,680 2,800 A1,120
OO0ts=Al 28 2|2 HAx=E
1,680,000 1,680
YLOISIHEXH (L LHIS XIH) 2,700 2,700 0
= 1,890
Al 810
307 21201 & 2,700 2,700 0
= 1,890
Al 810
11 AMEISXAEEES 2,700 2,700 0
ogtHlE X 2,700,000 2,700
= 1,890
Al 810
LAOISHEX R (Y A0tS 22 RIY) 103,200 103,200 0
= 72,240
Al 30,960
301 EetE2 NS 103,200 103,200 0
= 72,240
Al 30,960
01 Al EE A S (FREXME 103,200 103,200 0
gdgots L= K2
200,000 x43E «12& 103,200
= 72,240
Al 30,960
oSt EXR(HHots2EExZ XIY) 6.612 6.612 0
= 4,628
Al 1,984
301 EtE2 NS 6,612 6,612 0
= 4,628
Al 1,984
01 Al EE A S (FREXMH 6.612 6.612 0
OZotsed=E2Es K
551,000~ 1H« 122 6.612
= 4,628
Al 1,984
LAOISIIEXE (=202t 2R XI) 700 700 0
= 490
Al 210
301 EtE N = 700 700 0
= 490
Al 210
01 Al E2EHHS(FREXMH 700 700 0
o=t 2A X
700,000& x1H 700
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2A: E

3 CC)DP;%II s
el NASE ots=A A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 490
Al 210
LAOISIHEXE (LAFGI3) 2,000 2,000 0
= 1,400
Al 600
301 EtE NS 2,000 2,000 0
= 1,400
Al 600
01 Al EEHS(FRDEXMH) 2,000 2,000 0
Ogg=ots A& 2,000,000&*1& 2,000
= 1,400
Al 600
LAOISIIEXE (LA ots 25| XIY) 12,000 12,000 0
= 8,400
Al 3,600
301 EtE N = 12,000 12,000 0
= 8,400
Al 3,600
01 Al EE A S (2 RNEXMR) 12,000 12,000 0
oggiidots 254l X1
1,000,0002 x1&* 122 12,000
= 8,400
Al 3,600
2 IHEAE0IS Mg X 4,400 4,400 0
= 3,080
Al 1,320
301 EtE NS 4,400 4,400 0
= 3,080
Al 1,320
01 Al EE A S (2 RDEXA) 4,400 4,400 0
2 JHERE0s ddlXlg K&
4,400,000 4,400
= 3,080
Al 1,320
IS OtS (A8 AEHILE) 2= X 100,200 89,200 11,000
Al 70,140
- 30,060
301 EtE NS 100,200 89,200 11,000
Al 70,140
- 30,060
02 ANRI2HALFS(HAAS, XNLHE) 100,200 89,200 11,000
OJEASOtS(AEHAEHIE) 2=sH XJ
At 100,200
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SN BADSD
33 Ots=A &
el NASE ots=A A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—JERE0tS 25| 94,800,000 94,800
Al 66,360
- 28,440
—ZAIAEESH 5,400,000& 5,400
Al 3,780
- 1,620
A0S (AEAHINE) 22 KR 18,380 9,440 8,940
Al 9,190
T 9,190
301 EtE NS 18,380 9,440 8,940
Al 9,190
- 9,190
02 ARSI XSG (FHAAHS, NSWE) 18,380 9,440 8,940
OISO (AHLHIIE) W2 X 18,380
N IR
2,000,000 x12]~1H 2,000
Al 1,000
- 1,000
— sl 14,400,000 14,400
Al 7,200
=] 7,200
—5E3lH W SE0iE|
90,0008 %2311 1,980
Al 990
- 990
IS OtS (A8 AEHHE) OiMsEsHl X2 7,200 8,400 1,200
Al 3,600
T 3,600
301 LEtE NS 7,200 8,400 21,200
Al 3,600
- 3,600
02 A2 XSG (FHAAHS, NSWE) 7,200 8,400 1,200
OJNEAS0IS(AHAEHIE) HHs2SH
150,0002 ~4&x 122 7,200
Al 3,600
- 3,600
IS 0tEs 820t sESH] XE 48,000 40,500 7,500
= 33,600
Al 14,400
301 EtE NS 48,000 40,500 7,500
= 33,600
Al 14,400
01 Al EE A2 (2RNEXMR) 48,000 40,500 7,500




od
i’
oF
uJ

g g g g g g 8 g 3 =
is B> D S S S S S S o
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SN BYDSY
33 Ots=A &4
=Rl Olsg XA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ots=¢ s0l=s 10,228,440 9,752,623 475,817
= 8,182,752
Al 1,431,982
- 613,706
301 2eEN= 10,228,440 9,752,623 475,817
= 8,182,752
Al 1,431,982
- 613,706
01 Al EEHS(FRDEXMH) 10,228,440 9,752,623 475,817
O0ts+¢ S0XI2 10,228,440,000& 10,228,440
= 8,182,752
Al 1,431,982
- 613,706
RES ¥ Siots HE =4 103,135 103,615 A480
= 61,408
Al 7,676
- 34,051
OlsEsdgRE A 76,760 75,200 1,560
= 61,408
Al 7,676
- 7,676
101 @124H| 66,760 65,200 1,560
= 53,408
Al 6,676
- 6.676
02 JIEtME = 66,760 65,200 1,560
OOtSESdgRE 22|
66,760,000& 66,760
= 53,408
Al 6,676
- 6,676
201 er23 | 5,600 5,600 0
= 4,480
Al 560
- 560
01 At2t2lt] 4,900 4,900 0
O0lS23dERE AHd23| 4,900
—JdeE 23 & o8 & 20 oY N2
150,0002 2 300
= 240
Al 30
- 30
—ARM2It MHEFE 3,450,000 3,450
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FA BEUS
ma: ols=X =7
el 225 E Siols A8 54 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 2,760
Al 345
- 345
—JIEt=2 I 1,150,000 1,180
= 920
Al 115
- 115
02 S22l 700 700 0
OOtsSESHZRY olssSatsAldI(S4Hl)
700,000 700
= 560
Al 70
- 70
202 04| 1,400 1,400 0
= 1,120
Al 140
- 140
01 3L 1,400 1,400 0
O0ls2sdgR¥ 280l S
400,000 x2H 800
= 640
Al 80
- 80
Olt=sEsdEe NN S
300,000& 2 600
= 480
Al 60
- 60
301 LELE NS 3,000 3,000 0
= 2,400
Al 300
- 300
01 Al EE A S(FRNEXM) 3,000 3,000 0
OEsxXZE & Ot 2=HIE XA
700,000 700
= 560
Al 70
- 70
OEsHaots & 201018 & XI&
2,300,000 2,300
= 1,840
Al 230
- 230
Ol=ESdE R XA (KHA) 17,720 17,019 701
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FA BYW=

B 01S=T ST
el R2S & SUots HE =54 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 e124d| 16,670 15,969 701
02 JIEtME = 16,670 15,969 701
OANESHHLIIHOIZ (OISR SRS ) 16,670
—ItESE 60,0003 2 128 1,440
—ARII2R4E
9,620& x20A| 2Hx2EH* 123 4,618
—HHZAIY 140,0002 x4 » 122 3,360
—S4NRLE
2,189, 1602 40/ 35+84%+5%+2H » 122 2,522
— b2 A
2,189, 1602 *84%+80%+1/30%1/7+7T0 Al 2+<2H 1,055
— g2 X 175,000 #35/40+2F 128 3,675
204 MRt FH| 1,050 1,050
02 S3g23H| 1,050 1,050
OIS ESH| (AlRHIEIHII I HOIS (1S 2
SHERY)) 50,0002 *35/40+2& 123 1,050
OLSSIU AL B33 AlEFA 8,655 11,39% A2, 741
201 L= 6,855 9,5% N2,741
01 AF22t2ltl 1,984 3,576 A1,592
OO0ts& AN DEE2 SH=
984,000 984
OotsEiY S22 Y|
1,000,000 1,000
02 S3=gl 4,271 4,920 AB49
OO0ISHESILXIHI (S41H])
95,9163~ 122 1,151
OXtgrd et| 160,000« 122 1,920
OOLSEI) EA 532 KX+
800,000& *12] 800
ORER= 400,000 400
03 A= I 600 1,100 A500
OOtSEI) 2212 3ol Mz 600
— AN HI& 200,000 *3H 600
204 XMRs=HHH| 1,800 1,800
02 S3g23H| 1,800 1,800
OOtSEI) HYBLY ST Y2
50,0002 3 » 122 1,800
CHEH SsSME X 460,944 192,264 268,680
= 187,986
Al 144,513
T 128,445
CHENSsSHH £l XA 40,000 70,000 230,000
= 40,000
402 SI2ERHE201 S 40,000 20,000 20,000
= 40,000




FA g8us
B Ols=x =X
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 2IZHRAETAIHHI 40,000 0 40,000
OUENSSHE JIXHHEI(S0C =& 3t)
40,000,000 * 100 2 40,000
= 40,000
CletNssdl el X2 255,972 95,312 160,660
= 127,986
Al 63,993
- 63,993
307 212+01& 255,972 95,312 160,660
= 127,986
Al 63,993
- 63,993
11 AMISXAIEEX 255,972 95,312 160,660
OUEgN=sHE el X2
255,972,000 255,972
= 127,986
Al 63,993
- 63,993
CHiENEsde 23] X 40,000 16,000 24,000
[ 20,000
Al 10,000
- 10,000
307 @20l & 40,000 16,000 24,000
[ 20,000
Al 10,000
- 10,000
11 MEISXAEE 40,000 16,000 24,000
Otighss4dH 2488l N3
40,000,000 40,000
[ 20,000
Al 10,000
- 10,000
CieESsSdE SAL SX8s X3 2,100 550 1,550
Al 2,100
307 glztol & 2,100 550 1,550
Al 2,100
11 ARRIS XA E X 2,100 550 1,550
OUEN=34E SAL SXE4 A&
2,100,000 2,100
Al 2,100
CIe=SdE SALL SgA24Z3 8] X3 800 200 600
Al 800
307 elztol & 800 200 600
Al 800
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SN BYDSY
33 Ots=A &
ol CHEN SsSAHE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 800 200 600
OUENESHE SAHA S22 388 X
& 800,000 800
Al 800
CIEtNSSHEH SAL & &l X 108,904 6.850 102,054
Al 54,452
- 54,452
307 elztol & 108,904 6.850 102,054
Al 54,452
- 54,452
11 MEISXAEE 108,904 6,850 102,054
OUENSSHE SAMAL =285 A&
108,904,000& 108,904
Al 54,452
- 54,452
Cietnssde sts s & 3,728 952 2,776
Al 3,728
307 @I2t01 & 3,728 952 2,776
Al 3,728
11 MEISXAEE 3,728 952 2,776
OUBNSSHE samT X2
3,728,000 3,728
Al 3,728
CrENESSHE SAHA Sl & 2eli=g X2 9,440 2,400 7,040
Al 9,440
307 212+01& 9,440 2,400 7,040
Al 9,440
11 MEISXAEE 9,440 2,400 7,040
OUENSSHE SAHA S| & 22l At
=g X2 9,440,000& 9,440
Al 9,440
Heas(Eduns) 306,250 0 306,250
SHXE 306,250 0 306,250
=7 gdsga 48 US= o 306,250 0 306,250
311 XL =0lAHaret 56,250 0 56,250
05 JIEFXH A SO0l KHaket 56,250 0 56,250
ST gdsisa A 56,250,000& 56,250
601 Xt s =ate 250,000 0 250,000
05 JIEt=UAIE S St 250,000 0 250,000
O asts A 250,000, 0002 250,000
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